Ethos Swing Away Armrest

Kiz Mobility
2

13"
JH 14.13 4>‘

Effective 10/17/2022 If retrofitting, Receivers are needed. When to use Short vs. Tall Swing Away Arms 22" Wheel: Rear Seat Height
=13.5-15.5" Use Short // Rear Seat Height = 13.5-17.5" Use Tall 24" Wheel: Rear Seat Height = 14.5-17.5" Use Short // Rear Seat

Height = 14.5-18.5" Use Tall 25" Wheel: Rear Seat Height = 14.5-18.5" Use Short // Rear Seat Height = 14.5-20" Use Tall 26" Wheel:
Rear Seat Height = 15.5-19.5" Use Short // Rear Seat Height = 15.5-20" Use Tall

Item Number  Part Number  Description Quantity
116138114% 16 | G g_hohrt Swri]ng Away Arm with Receiver Assembly 1
219 ight, Ethos

2,6-8, 10 - Short Swing Away Arm with Receiver Assembl

11, 13, 15a, 16 | 116902 D Ethacd y 1
719 eft, Ethos

1-2,6-8,10- . . .

11,13 14a, 116903 ggﬂ:rzt SE\{[VA?)% Away Arm with Receiver Assembly 1
15a, 16 - 19 ’

1,6-8,10- Tall Swing Away Arm with Receiver Assembl

11, 13, 14b, 16 | 116904 Roht Efee Y y 1
“19 ight, Ethos

2,6-8,10- Tall Swing Away Arm with Receiver Assembl

11, 13, 15b, 16 | 116905 e y 1
‘19 eft, Ethos

1-2,6-8,10- . . .

11, 13, 14b. 116906 gil:gvg?#oéway Arm with Receiver Assembly 1
15a, 16 - 19 '

1,6-8,10- Swing Away Arm Receiver Assembly Right,

11, 13 LBy Ethos 1
2,6-8,10- 1116908 Swi i bly Left, Eth

11, 13 wing Away Arm Receiver Assembly Left, Ethos 1

08-06-2025




[tem Number  Part Number  Description Quantity
14a, 16 - 19 108166 Short Swing Away Arm Right, Ethos / Rogue 1
15a, 16 - 19 108167 Short Swing Away Arm Left, Ethos / Rogue 1
%ga, 15,16 - 108168 Short Swing Away Arm PAIR, Ethos / Rogue 1
14b, 16 - 19 108169 Tall Swing Away Arm Right, Ethos / Rogue 1
15b, 16 - 19 108170 Tall Swing Away Arm Left, Ethos / Rogue 1
140,150, 16~ 1108171 Tall Swing Away Arm PAIR, Ethos / Rogue 1
1,13 117132 Swing Away Arm Receiver w/ Nyliner, Right 1
2,13 117133 Swing Away Arm Receiver w/ Nyliner, Left 1
3a 115550 Back Plate, Right, Black 1
3b 115550 Color Anodized/Color Accent Back Plate, Right 1
3c 115551 Back Plate, Left, Black 1
3d 115551 Color Anodized/Color Accent Back Plate, Left 1
4a 115552 Back Plate, Transit, Right, Black 1
4b 115553 Back Plate, Transit, Left, Black 1
5 003848 Back Bracket Saddle 1 1/8" 2
6 003849 Saddle For Dimple 1 1/8" 4
7 101853 M6 Washer BIk Zn 4
8 100658 M6 Nylock Nut Blk Zn 4
9 115546 Strike, &@.364 2
10 115574 M6 x 30 BHCS, CLS 10.9, NYL, BLZ 2
11 003232 M6 x 55 BHCS Blk Zc 2
12 003846 M6 x 50 BHCS, Custom, Blk Zc 2
13 103517 Nyliner 1" ID x 1.094" OD x 1.125" Long 2
16 100804 Tube End Plug 1" 2
18 000065 M6 x 23.68 Threaded Barrel 2
19 110061 M6 x 10 Stainless Steel Armrest Screw with 4

Patch

08-06-2025




